20100 70 290 100 400 ~120 100
goooo
kotaro@math.titech.ac.jp

No. 1/5

goobooog

O oooboob obd 10

oooo

ooo.
e NO0DDOOOOODODO,ODODDO

e 1O0000ODOOODOODODOODODO
ooo0ooooooOooobooooo

e NODODODOOOODOOODDODODOD
ooooooo,0o0o000004d

e N00 804000011000

oooooooooooooogd
e JO000OOOOOOOOOOODO

oooooosboypnoooooo
oooooooooooooogoo
goooooooooooboooo
oooooo

e N00,0000C0000O0DO,O0000O0COCO,O0D00C000O0O0C0OOOODODOOO

goooooobooOo,00000000000.

gooooooooooboooooooooooood
oooo0ooooooo

0000o00000.000000000000000
oooooooooooooo.

120 30000000000000000O000O0OO

0000000o000o00oo000o000o00o0ooU0ooUO0oo0oU0 (Do 30 332B) O
ooooooboo0oooooooO0oooooobOosb 400000 9000000000

ooooosOd 10000010000 12000000

obboooooboooboooooooooboboooooooboooooooboOooooooo

0oooo0O0O00000oOoooooo@)boooo
000o00o0oo0o0oooOoooo(@)Dooooooog
g0o0o0oo0oooooooooooooboooboooo

go

gboooobon

OO0 AQoooo[1 ~[14]0000000000000000000000000 H450]

go

1 -1 -1 3 2
1 -1 0 2 1
2 =2 3 1
3 -3 -1 7 1

0[1]000000000 (2,4-000[2|000000 ADODDOODOOOOOOO
000000000 B=[3 |00000000000 rankA=[ 4 |0000
00000 AD0DO0000 Tx: R Rlfloonooooonooooooooo
1000000 RAJ 0000000 b=Ts(e)0000b=[7]0000
0000 T, 000 ImT,000 KeeTy 0000000 ImT, 00100000000
noooo R 0ooooooo[9]000000000KeT, 001000000

noooooo R oooooooo [11]00000000000 dimImTs =[12)

dimKer Ty = 0000

00000010000 Az=b(b=[7 )000000e0000000000000O0
0001000000000000([14|00000

goooog



OO0 B OOODOOODO [200

(1) 500000 AQOOOD 2000000AO0QOOOOO AO0oOooo

(2) 1000000 A=(ay;)0 a;; =4y 00000000000AODODOOODODOOO

1
(3) A= 3
3

_— W N =

-2 3

1 2 ooo AL

3 1

2 31

3 11

L1 9 oooo00 A—tp 00000000000 ™0
1 2 3

oo C O00000000o000D0e00DO0UDOUOOxOOOOO [ |OD00OOODOOOOOO

00 [300]

(1)
(2)
3)
(4)
(5)
(6)

6

00000000000000200 mO0000 A, BOODODO AB # BAO
20000000000000000000

000 mO0000 ADOOO A2— (trA)A+ (det A)E = O

000 mO0000 AOD mOOO0D00 POOODO tr(PAP)=trA

000 mO0000 A, BOODODO det(A+ B) = det A + det B.

0000 7T:R"—»R"00 Ke7TO RPO00000000

00D po)j0000400000000

OO0 FE poj0000400000000

oooopooooo ©



20100 70 290 100 400 ~120 100
ogooood
kotaro@math.titech.ac.jp No. 2/5

gobobuog oo obood 10

O0ADOOOO 00012, 34,56,89010-11:50; 7, 12, 13, 14: 50

1 2 3 4
1 -1 0 20
4% 2 0 01 -10 3
0O 00 01
0O 00 0O
5 6 7
4
5 4 .
5)
7
8 9
4 1 —1 2
1 0 1
C1 9 + Co 1 + c3 1 C1,C2,C3 € R
3 -1 1
10 11
1 -2
5) 1 0
c1 0 + C2 1 c1,c0 € R
0 1
0 0
12 13 14
1 1 —2
3 2 1 1 0
1 + 0 + 2 1 c1,c0 € R
1 0 1
1 0 0

oood ooo




20100 70 290 100 400 ~120 100
goooo
kotaro@math.titech.ac.jp No. 3/5

gobobuog oo gobood 20
OoOBOOOO

(1) (2) (3) (4)

5 11 -7
16 385 1 1,7, £v5
-l 3 -8 7 Vo

6 -9 7

oocooog

A- (b ! , B = S Y ) gnoooap—a=( ' 7).
1 1 4 3 7001

200 mO00000 A= (a), B=(h;) 00000000000000
000D01<j<i<m0O0000 (i,j) 0000 a;; =0, b; =00000
000 1<j<i<mD000 (5,/) 0000 ABO (i,j) 0000ay =0
(l=i+1,...,m),b;=0(1=1,...,j—1)00i—-1>;0000

m

i
Zaubu = Z aibi; = 0.
=1 =1

OooonD ApO0DOOOOODDOOO

@) [ % ]
100000 A=(1)0000 A2 — (trA)A+ (det A)E = (1) # O.

oood ooo




20100 70 290 100 400 ~120 100
goooo
kotaro@math.titech.ac.jp

No. 4/5

gobobuog oo gobood 30

Ooocoobooooogn

@ [o]
O000mO0000 A BOOOO trAB=trBAOOO
tr(P~'AP) = tr(P'(AP)) = tr((AP)P™') = tr(A(PP™")) = tr A.
(6 [x ]
A,BO200000000000detA=detB =1, det(A+ B)=det2E =4
0ooo
© [0 ]

KerT={xzcR";T(x)=0} 0000000

ez, ycKaeTOOOODT(z)=0,T(y)=0000000000 T(z+
y)=T(x)+T(y)=0+0=0000000 z+yeKerT.

exrxcKerT, ke ROOUO T(x)=0000 T(kx) = kT(x) = kO = 00
00000 kx € KerT.

oood ooo




20100 70 290 100 400 ~120 100
goooo
kotaro@math.titech.ac.jp No. 5/5

gobobuog oo obood 40

gboooboboboo b, EQ00bobobobboobooobooobooboon

00 D oooooooooooo00oo00o00o0000000000oN000oN00oo00o0ooonooooooonoon
000o0o0o0ooo0ooooooOoooooo [o0)

oood

OO0 ED0O0O0O0O0O0 [oooo0000000000000000000000000000 50]

201100000o0ob0OOoOoOOOO0OO0O0OO0DO0OODOODOODODOO 150000000000000000000000O
oobo0oooOo0oO0ooOo0ooOo0O0O0OO0Ob0OOO0OO0OOOO0O0OO0O00C0O0OO0O0O0 1000 2000000 2000
gooooooooooobooooooooooooobobo0olooooOooooOoOO 200000000000000
ooo0oooOo0b0O0oO000OO0O00O0oOO00bO0O00000O000C0O00COOO0OO0OOO0OO0O0O0O0OO0O0C0OO00O0GB0O00
goboooooooooooooboooooooooobobooOooooooooo

oood

gooood

0000 OD0o0oooooooobooooooooooooooooo

00000 0000000000000 00DO00000OD0O0DO0O0O0OD00(1) 00000000 DO0O0OD (2)0D00D0O0ODODOOO
0000o00o00o00oo00oo00oo00o00ooo0ooOo0oOU0oo00oD0O0 ) oooooooo

goooo e J00O0OOOO0OOODOOOOOOOOOOOOLOOOOOOOOOOOOOOODOOO
e JO00O0OOOUOOOODOODOOOOOOOODOOOOOOOOOODOOOOOOOOO
00000000 ODooOoOOoooOooooooooOooOoooOoOooooooo

e NO0O0OO0OOOOOODODODOOOOOOODODODODO
e JO0O0OOOOOOOODDODODOOOOOOOODODODO

e JO0ODODOOOODODOO 1,00D0D 200000 300000 40000000000000COO0OOOOOOOOO
oooooooooood

e JO0O0O0OOOOOOODOODOOOOOOOOOOOODOOOOOOOOOOOOOOOOOODOOOOOOOOOO0
goooooooooo

e JO0O0OOOOOOOODDOODOOOOOOOODOOOOOOOOODDOODODOOOOOODODOOOO
e JO0D00OO0OOOOOOOODDODOOOOOO

oood oono




